FUNCTIONAL

FENESTRATION INC.

FFI LS600 Handle
Assembly Procedure

Handle and plate assembly: Fixed versions

LS600.00.xxx  LS610.00.xxx  LS620.00.xxx

LS600.01.xxx  LS610.01.xxx  LS620.01.xxx

LS600.07.xxx  LS610.07.xxx  LS620.07.xxx

LS600.08.xxx  LS610.08.xxx  LS620.08.xxx

1. Align handle to plate hub, with handle up in 12 o’clock position. '
St

2. Insert handle firmly and completely into hub on escutcheon plate. H

Plastic hub insertion guard ensures the alignment is foolproof.

w

Operate handle a few times, and feel the positive-click feedback.
Handle may be a bit tight at first; it will operate more smoothly after a few moves.

4. Add a drop of Loctite (or similar super glue product) to LS600.17.630 screw (M2.5x6mm), ref. appendix A.

5. Insert and tighten screw with 1.3mm allen wrench (part # 7289A33). Make sure the screw is fully inserted.

o

Operate handle to make sure it operates correctly, make sure handle cannot be removed.

Handle and plate assembly: Removable versions

LS600.03.xxx  LS610.03.xxx
LS600.09.xxx  LS610.09.xxx

LS620.03.xxx
LS620.09.xxx

1. Align handle to plate hub, with handle up in 12 o’clock position.

2. Insert handle firmly and completely into hub on escutcheon plate.
Plastic hub insertion guard ensures the alignment is foolproof.

3. Operate handle a few times, and feel the positive-click feedback.
Handle may be a bit tight at first; it will operate more smoothly after a few moves.

How convert a removable handle to a fixed handle:

1. Add adrop of Loctite (or similar super glue product) to LS600.17.630 screw (M2.5x6mm).

2. Insert and tighten screw with 1.3mm allen wrench (part # 7289A33). Make sure the screw is fully inserted.
3. Operate handle to make sure it operates correctly, make sure handle cannot be removed.

Handle and plate assembly: Attachments
¢ Handle with two handle screws (included) are designed to
attach to an LS600 rear-mount pull or an LS100.14.KIT fixing Kit.
e Screws included are M5 x 65mm for doors up to 68mm thick.
For doors up to 92mm thick, use M5 x 85mm screws
(sold separately, LS105.21.xxx flathead and LS105.22.xxx oval head).

=4

z
/

= o= &)



FFI LS600 Handle

FENESTRATION INC. Assembly Procedure Apendix A

} FUNCTIONAL

‘AIAOW3Y
39 LONNVO ANV

A1d3d0dd SNOILONNA
113anS BAVW OL
JTANVH 31V10d

€

M3IYDS 13S
Ww9 X G°Z

0€9°£1°009S1

youaim ug||o
wwig'|

"HONIIM NITTV WWg' | ONISN

JTOH ONISNOH NHL X4 ANV

MIIOS 13§ OL LLDOT ATddV
4

XXXy E0L9ST/ XXX 70 0L9S1
XXXy 009ST / XXX'¥0°009S1
SINVIIVA ATdW3SSY 31Vd

XXX'G0"0C9S1
XXX'GO'019S1
XXX'G0"00951
SINVIIVA FTANVH

(re)jdwipxs s umoys
XXX$0'009S7 PUL XXX'G0"00957)
"INIWNODITV
NI JdV 9% V NS ONDIVW
NMOHS SV ATdWESSY
A1V1d OLINI ITANVH LJ3SNI

L



	Blank Page



